Ghen v. Rich:   Reading Comprehension Self-Quiz

(1) Which of the following accurately describes the role of one of the parties in this case. 
(a)  Ghen killed the whale in question.  
(b)  Ghen found the carcass of the whale in question.
(c)  Rich killed the whale in question.
(d)  Rich found the carcass of the whale in question.

 (2) All of the following facts about hunting fin-back whales probably contributed to development of the custom at issue in Ghen except…
(a)  Fin-backs swim too quickly to be caught with a harpoon and line.  
(b)  Fisherman developed a type of bomb-lance that both killed the fin-backs and stayed embedded in the carcass still displaying a mark. 
(c)  Some of the fin-back carcasses “float ashore at high water and are left stranded on the beach as the tide recedes.”
(d)  Some of the fin-back carcasses “float out to sea and are never recovered.”
(3) According to the opinion, what did the respondent know about who had killed the whale in question? 
(a)  He knew that the libellant had killed it.
(b)  He should have known that the libellant had killed it.
(c)  He could have found out that one of the fin-back whalers in the area had killed it.
(d)  He knew that one of the fin-back whalers in the area had killed it.

 (4)  The court decided the case in favor of the libellant based on:
(a)  The common law as laid out in Taber and Bartlett.
(b)  Adopting the local custom as law, under the analysis from Swift.
(c)  Both the common law and custom.
(d)  Neither the common law nor custom. 
(5) The court discusses the factors laid out in Swift for adopting custom as law.  All of these factors support treating the custom at issue in Ghen as law except:
(a)  The custom did not affect outsiders.
(b)  The custom had been used by the industry for a long time.
(c)  The custom was relatively clear to apply.
(d)  The custom was reasonable.

